

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 15, 2021

Progres	ss Estimate Number	Contract ID	210416-H0	)5		Pay Period Start	Septeml	ber 2, 2021	Original Amount	Contract	\$3,217,000.00	
4		Prime Contractor	Pace Cons	struction C	ompany,	Pay Period End	Septeml 2021	ber 15,	Net Char Amount	nge Order	\$16,868.60	
								Curr Amo		Contract	\$3,233,868.60	
Approval Date											By User	
September 15, 2021			Generate	ed and Ap	d and Approved (and should be considered Draft) at the Project Office Level by							
September 16, 2021		Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by								PULLIA		
September 17, Reviewed and Approved at the Central Office Controllers Office Level by 2021							fice Level by ramses					
Original Com	pletion Date	Curren	t Completion	Date Actual Completion Date				% of (	Current C	ontract Amoun	t Complete	
Novembe	r 1, 2021	No	vember 1, 202	21 67.12%								
Co	ntract Informa	tional Dates					N	lilestones				
Date Description	Origina Completion		Surrent eletion Date	Date D	escription	Original Completion D	Date Co	Current mpletion D	,	s Remaining on Milestone	Diary Charge Days	
Acceptance Date				Milestor Calenda								
Awarded Date	May 5, 2021	May 5	2021									
Letting Date	April 16, 2021	April 1	6, 2021									
Notice to Proceed Date	July 7, 2021	July 7,	2021									
Work Began Date	July 19, 2021	July 19	9, 2021									

Contract Total Pay	y For Estimate No. 4			
		This Estimate	Previous	To Date
210416-H05				
	Total Posted Items Pay	\$32,135.57	\$2,138,278.18	\$2,170,413.75
	Gross Item Adjustments	\$0.00	\$58,074.87	\$58,074.87
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
			\$2 <mark>,1</mark> 96,353.05	\$2,228,488.62
<b>Contract Total Pay</b>	yable This Estimate:	\$32,135.57		

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9S3418	0420	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$25.000	20	\$500.00
	0430	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	EA	\$1,500.000	2	\$3,000.00
	0440	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.110	132,147	\$14,536.17
	0450	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.100	140,994	\$14,099.40
Project J98	3418 - To	tal					\$32,135.57
Overall - To	otal						\$32,135.57

## Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

### Line Item Adjustments This Estimate

No Data Available

Revision 4/1/2020 Page 1 of 8



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

						Contract Project Information	1					
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work					
J9S3375	FAS S703(55)	Resurface	Н	SHANNON	from Rte. 106 to Rte. 19							
J9S3376	FAS S703(56)	Resurface	Rte. F	SHANNON	from Rte. 19 to end of st	ate maintenance						
J9S3378	FAS S703(57)	Resurface	MO 95	DOUGLAS	from Rte. 14 to Rte. 5							
J9S3418	FAS S703(63)	Resurface	С	WRIGHT	from Rte. E to Rte. 14	Rte. E to Rte. 14						
Totals by Job Numbers												
J9S3375					This Estimate	Previous	To Date					
2000010	Posto	d Item Pay			\$0.00	\$0.00	\$0.00					
		Item Adjustm	ents		\$0.00	\$0.00	\$0.00					
		,		s Item Pay	\$0.00	\$0.00	\$0.00					
		41			<b>#0.00</b>	<b>#0.00</b>	<b>#0.00</b>					
	Incent	tive centive			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00					
		centive dated Damages			\$0.00 \$0.00	\$0.00	\$0.00 \$0.00					
		Contract Adju			\$0.00	\$0.00	\$0.00					
	23.101				*****	,	7					
J9S3376					This Estimate	Previous	To Date					
		d Item Pay			\$0.00	\$0.00	\$0.00					
	Gross	Item Adjustm			\$0.00 \$0.00 \$0.00							
			Gross	s Item Pay	\$0.00	\$0.00	\$0.00					
	Incent	tive			\$0.00	\$0.00	\$0.00					
		centive			\$0.00	\$0.00	\$0.00					
	Liquid	dated Damages			\$0.00	\$0.00	\$0.00					
	Other	Contract Adju	stments		\$0.00	\$0.00	\$0.00					
J9S3378					This Fathers	Bundana	T- D-4-					
1900018	Posto	d Item Pay			This Estimate \$0.00	Previous \$1,097,327.45	To Date \$1,097,327.45					
		a item Pay i Item Adjustm	onte		\$0.00 \$0.00	\$1,097,327.45 \$24.170.96	\$1,097,327.45 \$24.170.96					
	01055	nom Aujustin		s Item Pay	\$0.00	\$1,121,498.41	\$24,170.96 \$1,121,498.41					
			0.000									
	Incent				\$0.00	\$0.00	\$0.00					
		centive			\$0.00	\$0.00	\$0.00					
		dated Damages Contract Adju			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00					
	Other	Contract Adju	sunents		φυ.υυ	φ0.00	φυ.υυ					
J9S3418					This Estimate	Previous	To Date					
	Poste	d Item Pay			\$32,135.57	\$1,040,950.73	\$1,073,086.30					
		Item Adjustm			\$0.00	\$33,903.91	\$33,903.91					
			Gross	s Item Pay	\$32,135.57	\$1,074,854.64	\$1,106,990.21					
	Incent	tivo			\$0.00	\$0.00	\$0.00					
		centive			\$0.00	\$0.00	\$0.00 \$0.00					
		dated Damages	s		\$0.00	\$0.00						
					\$0.00							
	Other Contract Adjustments \$0.00 \$0.00											

Revision 4/1/2020 Page 2 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

# Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract

Revision 4/1/2020 Page 3 of 8



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

lote: Posted Q	uantities	and Valu	es are b	pased on R	Report Generated date and can differ from the posted amo	ount at the t	ime the Est	imate was (	enerate	ed.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210416-H05	J9S3375	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	55.00	0.00	55.00	TONS	0.00	\$66.00	\$0.00
		0001	0020	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	10,572.60	0.00	10,572.60	TONS	0.00	\$63.25	\$0.00
		0001	0030	4071005	TACK COAT	11,870.00	0.00	11,870.00	GAL	0.00	\$2.10	\$0.00
		0001	0040	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0050	6161005	CONSTRUCTION SIGNS	995.00	0.00	995.00	SQFT	0.00	\$6.00	\$0.00
		0001	0060	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$20.00	\$0.00
		0001	0070	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	0.00	\$1.00	\$0.00
		0001	0080	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$87,112.27	\$0.00
		0001	0090	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	131,370.00	0.00	131,370.00	LF	0.00	\$0.11	\$0.00
		0001	0100	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	131,370.00	0.00	131,370.00	LF	0.00	\$0.10	\$0.00
		0001	0110	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	511.00	0.00	511.00	SQYD	0.00	\$12.35	\$0.00
		0001	0120	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	346.00	0.00	346.00	SQYD	0.00	\$12.35	\$0.00
	Project J	9S3375 - To	otal Value	Posted to D	Date as of Report Generated Date							\$0.00
	J9S3376	0001	0130	3105002	GRAVEL (A) OR CRUSHED STONE (B)	43.00	0.00	43.00	TONS	0.00	\$39.00	\$0.00
		0001	0140	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,679.80	0.00	2,679.80	TONS	0.00	\$64.00	\$0.00
		0001	0150	4071005	TACK COAT	2,980.00	0.00	2,980.00	GAL	0.00	\$2.10	\$0.00
		0001	0160	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001 0170 6161005 CONSTRUCTION SIGNS				704.00	0.00	704.00	SQFT	0.00	\$6.00	\$0.00
		0001	0180	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	0.00	\$20.00	\$0.00
		0001	0190	6161025	CHANNELIZER (TRIM LINE)	50.00	0.00	50.00	EA	0.00	\$1.00	\$0.00
		0001	0200	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.00
		0001	0210	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	32,400.00	0.00	32,400.00	LF	0.00	\$0.12	\$0.00
		0001	0220	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	288.00	0.00	288.00	SQYD	0.00	\$4.65	\$0.00
	Project J	9S3376 - To	otal Value	Posted to I	Date as of Report Generated Date							\$0.00
	J9S3378	0001	0230	3105002	GRAVEL (A) OR CRUSHED STONE (B)	87.00	-41.00	46.00	TONS	46.00	\$61.00	\$2,806.00
		0001	0240	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	14,942.20	-61.10	14,881.10	TONS	14,881.10	\$63.50	\$944,949.85
		0001	0250	4071005	TACK COAT	16,860.00	-3,280.00	13,580.00	GAL	13,580.00	\$2.10	\$28,518.00
		0001	0260	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.00
		0001	0270	6161005	CONSTRUCTION SIGNS	1,436.00	0.00	1,436.00	SQFT	1,436.00	\$6.00	\$8,616.00
		0001	0280	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$20.00	\$80.00
		0001	0290	6161025	CHANNELIZER (TRIM LINE)	200.00	-200.00	0.00	EA	0.00	\$1.00	\$0.00
		0001	0300	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$60,000.00	\$60,000.00
		0001	0310	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	179,913.00	0.00	179,913.00	LF	148,900.00	\$0.11	\$16,379.00
		0001	0320	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	829.00	0.00	829.00	SQYD	829.00	\$6.35	\$5,264.15
		0001	0330	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	844.00	67.00	911.00	SQYD	911.00	\$6.35	\$5,784.85
	0001 5001 6206000C 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING				0.00	186,950.00	186,950.00	LF	149,560.00	\$0.16	\$23,929.60	
		0001	5001	6206000C	PAINT, TYPE P BEADS							
		9S3378 - To	otal Value	Posted to I	PAINT, TYPE P BEADS Date as of Report Generated Date						<b>A</b>	\$1,097,327.45
	Project J9 J9S3418		otal Value	3105002	PAINT, TYPE P BEADS Date as of Report Generated Date GRAVEL (A) OR CRUSHED STONE (B)	125.00	0.00	125.00	TONS	73.00	\$55.00	\$4,015.00
		983378 - To 0001 0001	0340 0350	3105002 4020520	PAINT, TYPE P BEADS Date as of Report Generated Date GRAVEL (A) OR CRUSHED STONE (B) BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	14,559.60	0.00	14,559.60	TONS	14,550.10	\$62.75	\$4,015.00 \$913,018.78
		9S3378 - To 0001 0001 0001	0340 0350 0360	3105002 4020520 4071005	PAINT, TYPE P BEADS Date as of Report Generated Date  GRAVEL (A) OR CRUSHED STONE (B)  BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)  TACK COAT	14,559.60 16,430.00	0.00	14,559.60 16,430.00	TONS	14,550.10 13,400.00	\$62.75 \$2.10	\$4,015.00 \$913,018.78 \$28,140.00
		9S3378 - To 0001 0001 0001 0001	0340 0350 0360 0370	Posted to I 3105002 4020520 4071005 6123000A	PAINT, TYPE P BEADS  Jate as of Report Generated Date  GRAVEL (A) OR CRUSHED STONE (B)  BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)  TACK COAT  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	14,559.60 16,430.00 2.00	0.00	14,559.60 16,430.00 2.00	TONS GAL EA	14,550.10 13,400.00 2.00	\$62.75 \$2.10 \$500.00	\$4,015.00 \$913,018.78 \$28,140.00 \$1,000.00
		9S3378 - To 0001 0001 0001 0001 0001	0340 0350 0360 0370 0380	Posted to I 3105002 4020520 4071005 6123000A 6161005	PAINT, TYPE P BEADS  Date as of Report Generated Date  GRAVEL (A) OR CRUSHED STONE (B)  BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)  TACK COAT  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)  CONSTRUCTION SIGNS	14,559.60 16,430.00 2.00 1,517.00	0.00 0.00 0.00	14,559.60 16,430.00 2.00 1,517.00	TONS  GAL  EA  SQFT	14,550.10 13,400.00 2.00 1,517.00	\$62.75 \$2.10 \$500.00 \$6.00	\$4,015.00 \$913,018.78 \$28,140.00 \$1,000.00 \$9,102.00
		9S3378 - To 0001 0001 0001 0001	0340 0350 0360 0370 0380	9 Posted to I 3105002 4020520 4071005 6123000A 6161005 6161009	PAINT, TYPE P BEADS  Date as of Report Generated Date  GRAVEL (A) OR CRUSHED STONE (B)  BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)  TACK COAT  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)  CONSTRUCTION SIGNS  FLAG ASSEMBLY	14,559.60 16,430.00 2.00 1,517.00 4.00	0.00 0.00 0.00 0.00	14,559.60 16,430.00 2.00 1,517.00 4.00	TONS  GAL  EA  SQFT  EA	14,550.10 13,400.00 2.00 1,517.00 4.00	\$62.75 \$2.10 \$500.00 \$6.00 \$20.00	\$4,015.00 \$913,018.78 \$28,140.00 \$1,000.00 \$9,102.00 \$80.00
		9S3378 - To 0001 0001 0001 0001 0001	0340 0350 0360 0370 0380	Posted to I 3105002 4020520 4071005 6123000A 6161005	PAINT, TYPE P BEADS  Date as of Report Generated Date  GRAVEL (A) OR CRUSHED STONE (B)  BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)  TACK COAT  TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)  CONSTRUCTION SIGNS	14,559.60 16,430.00 2.00 1,517.00	0.00 0.00 0.00	14,559.60 16,430.00 2.00 1,517.00	TONS  GAL  EA  SQFT	14,550.10 13,400.00 2.00 1,517.00 4.00	\$62.75 \$2.10 \$500.00 \$6.00	\$4,015.00 \$913,018.78 \$28,140.00 \$1,000.00 \$9,102.00

Page 4 of 8 Revision 4/1/2020



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210416-H05	J9S3418	0001	0420	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	20.00	0.00	20.00	LF	20.00	\$25.00	\$500.00
		0001	0430	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	2.00	\$1,500.00	\$3,000.00
		0001	0440	6206000C	$4\ \mbox{IN}.$ WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	180,220.00	0.00	180,220.00	LF	132,147.00	\$0.11	\$14,536.17
		0001	0450	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	180,220.00	0.00	180,220.00	LF	140,994.00	\$0.10	\$14,099.40
		0001	0460	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	929.00	0.00	929.00	SQYD	929.00	\$5.55	\$5,155.95
		0001	0470	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	980.00	0.00	980.00	SQYD	980.00	\$5.55	\$5,439.00
	Project J	9S3418 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,073,086.30
210416-H05 Ove	erall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$2,170,413.74

Page 5 of 8 Revision 4/1/2020



### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9S3418

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	S	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0420	6200015	PREF THERMO PVMT MARK, 24 IN WHIT	9/10/21	9/13/21	20.00	LF		.581				RR Marking
0430	6200033	PREF THERMO PVMT MARK, R/R XING	9/10/21	9/13/21	2.00	EA		.581				RR Marking
0440	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	9/10/21	9/13/21	132,147.00	LF		1.6		17.376		Pd 80% of paint installed
0450	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	9/10/21	9/13/21	140,994.00	LF		.310		17.376		Pd 80% of paint installed

	mation below	this line are de	tails for Construction Signs (if app	olicable).								
Project	Line Number	DWR Date	Total Quantity Posted For DWR Date	Sign Information	Station	Log Mile	Location	Number of Items	SF Each Sign	Special Sign	SF Each Special Sign	Total SF to Pos
J9S3378	0270	July 19, 2021	1427	GO20-4 36x18 4.50 PILOT CAR FOLLOW ME		51.485 - 69.186		1.00	4.5			4
				CONST-7-48 48x24 8.00 RATE OUR WORK ZONE		51.485 - 69.186		2.00	8			
				GO20-2 48x24 8.00 END ROAD WORK		51.485 - 69.186		2.00	8			
				GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES		51.485 - 69.186		2.00	10			
				CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE		51.485 - 69.186		2.00	12			
				WO8-12 48x48 16.00 NO CENTER LINE		51.485 - 69.186		22.00	16			3
				GO20-4 36x18 4.50 PILOT CAR FOLLOW ME		51.485 - 69.186		3.00	4.5	Wait and Follow		1:
				WO8-11 48x48 16.00 UNEVEN LANES		51.485 - 69.186		38.00	16			6
				WO3-4(48) 48x48 16.00 BE PREPARED TO STOP		51.485 - 69.186		4.00	16			
				WO20-4 48x48 16.00 ONE LANE ROAD AHEAD		51.485 - 69.186		4.00	16			
				WO20-7a 48x48 16.00 FLAGGER (SYMBOL)		51.485 - 69.186		4.00	16			
				GO20-4a 42x30 8.75 PLEASE WAIT FOR PILOT CAR		51.485 - 69.186		6.00	8.75			5
				WO20-1 48x48 16.00 ROAD/BRIDGE/RAMP WORK AHEAD		51.485 - 69.186		8.00	16			
		August 9, 2021	9	See Special Sign Details		51.485 - 69.186		4.00			2.19	8
	0270 - Total											1435
J9S3418	0380	July 21, 2021	76	CONST-7-48 48x24 8.00 RATE OUR WORK ZONE		.310 - 17.376		2.00	8			
									_			
				GO20-2 48x24 8.00 END ROAD WORK		.310 - 17.376		2.00	8			
				GO20-2 48x24 8.00 END ROAD WORK See Special Sign Details		.310 - 17.376		2.00	8			
				WORK		.310 - 17.376		2.00	12			
				WORK See Special Sign Details CONST-8 48x36 12.00 WORK								
		August 4, 2021	1400	WORK See Special Sign Details CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE GO20-1 60x24 10.00 ROAD WORK		.310 - 17.376		2.00	12			
		August 4, 2021	1400	WORK See Special Sign Details CONST-8 48x36 12.00 WORK ZONE NO PHONE ZONE GO20-1 60x24 10.00 ROAD WORK NEXT XX MILES GO20-4 36x18 4.50 PILOT CAR		.310 - 17.376 .310 - 17.376		2.00	12			
		August 4, 2021	1400	WORK See Special Sign Details CONST-8		.310 - 17.376 .310 - 17.376 .310 - 17.376		2.00 2.00 1.00	12 10 4.5			131
		August 4, 2021	1400	WORK See Special Sign Details CONST-8 48:x36 12.00 WORK ZONE NO PHONE ZONE GO20-1 60:x24 10:00 ROAD WORK NEXT XX MILES GO20-4 38:x18 4.50 PILOT CAR FOLLOW ME GO20-48 42:x30 8.75 PLEASE WAIT FOR PILOT CAR WO8-12 48:x48 16:00 NO CENTER		.310 - 17.376 .310 - 17.376 .310 - 17.376 .310 - 17.376		2.00 2.00 1.00	12 10 4.5 8.75			131
		August 4, 2021	1400	WORK See Special Sign Details CONST-8		310 - 17.376 310 - 17.376 310 - 17.376 310 - 17.376 310 - 17.376		2.00 2.00 1.00 15.00 20.00	12 10 4.5 8.75			131
		August 4, 2021	1400	WORK See Special Sign Details CONST-8		.310 - 17.376 .310 - 17.376 .310 - 17.376 .310 - 17.376 .310 - 17.376 .310 - 17.376		2.00 2.00 1.00 15.00 20.00 38.00	12 10 4.5 8.75 16			131
		August 4, 2021	1400	WORK See Special Sign Details CONST-8		310 - 17.376 310 - 17.376 310 - 17.376 310 - 17.376 310 - 17.376 310 - 17.376 310 - 17.376		2.00 2.00 1.00 15.00 20.00 38.00 4.00	12 10 4.5 8.75 16 16			131
		August 4, 2021	1400	WORK See Special Sign Details CONST-8		310 - 17.376 310 - 17.376		2.00 2.00 1.00 15.00 20.00 38.00 4.00	12 10 4.5 8.75 16 16 9			131
		August 4, 2021	1400	WORK See Special Sign Details CONST-8		310 - 17.376 310 - 17.376		2.00 2.00 1.00 15.00 20.00 38.00 4.00 4.00	12 10 4.5 8.75 16 16 9 16			131 5 6
		August 4, 2021  August 30, 2021	1400	WORK See Special Sign Details CONST-8		310 - 17.376 310 - 17.376		2.00 2.00 1.00 15.00 20.00 38.00 4.00 4.00 8.00 5.00	12 10 4.5 8.75 16 16 9 16 16 8.75			131. 3 6
				WORK See Special Sign Details CONST-8		310 - 17.376 310 - 17.376		2.00 2.00 1.00 15.00 20.00 38.00 4.00 4.00 8.00 5.00	12 10 4.5 8.75 16 16 9 16 16 8.75			131.

Revision 4/1/2020 Page 6 of 8



## Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J9S3378	0240	BITUMINOUS PAVEMENT MIXTURE	Material		1	Aug 2, 2021	SYSTEM	\$812,844.45	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.
		PG64-22 (SUR			1	Aug 2, 2021	SYSTEM	(\$812,844.45)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	1	Aug 2, 2021	REEDN	\$11,248.62	Surface Level Mix laid 7/20/21 - 7/29/21.
					2	Aug 16, 2021	REEDN	\$2,982.77	Rte. 95 Mix laid 8/2 - 8/5/21
				ACAD - Tota	al			\$14,231.39	
			Other Item	Adjustment -	Total			\$14,231.39	
			Price FUEL		1	Aug 2, 2021	SYSTEM	\$8,074.69	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					2	Aug 16, 2021	SYSTEM	\$1,864.88	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$9,939.57	
			Price FUEL	- Total				\$9,939.57	
	0240 -	Total						\$24,170.96	
	0310	4 IN. YELLOW WATERBORNE PAVEMENT	Material		2	Aug 16, 2021	SYSTEM	\$15,832.30	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user reedn overridding Payment Estimate Exception 3 on the current Payment Estimate.
		MARKING			2	Aug 16, 2021	SYSTEM	(\$15,832.30)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0310 -	Total						\$0.00	
	0330	MODIFIED COLDMILLING (DEPTH	Overrun	Overrun	2	Aug 16, 2021	SYSTEM	(\$425.45)	
		TRANSÍTIONS)			3	Sep 2, 2021	SYSTEM	\$425.45	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',6.35000 - 6.35000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - T	otal				\$0.00	
	0330 -	Total						\$0.00	
J9S3378 -	- Total							\$24,170.96	
J9S3418	0350	BITUMINOUS PAVEMENT MIXTURE	Material		2	Aug 16, 2021	SYSTEM	\$349,605.35	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user reedn overridding Payment Estimate Exception 1 on the current Payment Estimate.
		PG64-22 (SUR			2	Aug 16, 2021	SYSTEM	(\$349,605.35)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	2	Aug 16, 2021	REEDN	\$12,289.24	Rte. C mix laid 8/9 - 8/13/21
					3	Sep 2, 2021	REEDN	\$8,571.96	Surface level laid on Rte. C 8/16 - 8/24/21
				ACAD - Tota				\$20,861.20	
				Adjustment -				\$20,861.20	
			Price FUEL		2	Aug 16, 2021	SYSTEM	\$7,683.40	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Sep 2, 2021	SYSTEM	\$5,359.31	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$13,042.71	
			Price FUEL	- Total				\$13,042.71	
1000440	0350 -	Total						\$33,903.91	
J9S3418 -	- Total							\$33,903.91	

MoDOT

## Line Item Adjustments by Estimate

Sep 21, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
Overall -	Total							\$58,074.87	